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» Incurred Loss Development Method
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2019E = 2/487| 20194 6¥ 30Y HX|

2018 = 20184 12 31€ A
AXALSHEE T A DAL (CHel: &)
ot 5 20199 2/487| 2018 = 3 #9®

Xt A

I35 S AHFYRL 695,910,488 1,029,293,996 333,383,508
O.27|EAAM &t 285,692,269,685 274,607,577,393 11,084,692,292
MO E7tsa &ALt 440,245,544,192 444,974,420,380 N4,728,876,188
IV.0HO = Bl = xH A 117,442,186,130 132,885,118,356 A15,442,932,226
V.Y AL 23,198,288,265 9,252,839,798 13,945,448,467
VL2 S RpA 5,261,523,061 6,130,380,560 868,857,499
VIR 2 3 KAk 126,205,737,106 111,703,505,301 14,502,231,805
VILO| & 2 & A 2F 9,494,015,116 6,033,531,955 3,460,483,161
IX.7|EFAp&E 16,413,127,263 15,839,237,504 573,889,759
I o F A 1,024,648,601,307 1,002,455,905,243 22,192,696,064
5 | 0
1.2 A XY 663,085,567,347 653,350,687,030 9,734,880,317
o854 40,118,800,592 39,415,607,904 703,192,688
II.7| B XY 56,875,329,582 41,661,113,600 15,214,215,982
g M F A 760,079,697,521 734,427,408,534 25,652,288,987
Kt = 0
I.X23 250,857,150,000 250,857,150,000 0
oxEdoa 4,320,464,286 4,577,316,041 A256,851,755
mZ&a30194%0a) A 1,085,450,323 6,837,818,518 A7,923,268,841
IV.7| Ep AL b Of = | 4 10,476,739,823 5,756,212,150 4,720,527,673
I 2 F A 264,568,903,786 268,028,496,709 A3,459,592,923
FMex2EA 1,024,648,601,307 1,002,455,905,243 22,192,696,064
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HES7] 20184 1€ 122 E 2018 62 30L7HX|

AXAZS] H T A B A (B 3)
1} = 20199 & 2/487| HES 3 &

- s Bael 465,584,585,259 | 479,135,775,981 A13,551,190,722
12884+ 353,649,552,816 341,899,731,618 11,749,821,198

2 EHFFY 64,819,422,477 64,511,409,880 308,012,597
3IHE HA A N 14,502,231,805 7,049,835,388 7,452,396,417
4. A R RS ol 3,687,679,377 28,689,631,750 A25,001,952,373
5.740[¢] 0 0 0
6.0|Xt=2] 7,082,959,812 6,920,698,396 162,261,416
73 8YEFRFY 4,388,371,516 2,634,832,325 1,753,539,191
8.2/t 2ol 5,353,260 782,325 4,570,935
9.4+ @] 17,120,714,196 27,275,105,436 ~10,154,391,240
10. 5= L &S ZAHH] 53,518,362 5,689,477 47,828,885
11.7|EFS] H =49 274,781,638 148,059,386 126,722,252
O.EYH 8 473,603,270,849 | 445,631,342,710 27,971,928,139
1.2ZHE 254,479,385,205 246,811,466,581 7,667,918,624
2IEHBHE 95,123,181,997 95,471,967,512 348,785,515
3eg3Hg 6,577,070,450 2,958,563,260 3,618,507,190

4 AR 13,422,559,694 5,421,859,748 8,000,699,946
SRS 628,529,991 218,248,733 410,281,258

6. AL H] 67,638,941,758 61,133,604,559 6,505,337,199
7R S &S T AL 25,955,592,643 24,169,257,806 1,786,334,837
8.4 7| ofH| & ZHH 8,024,197,344 6,603,506,562 1,420,690,782
9.0|X}H| & 186,272,523 216,003 186,056,520
10.8 842 FAHE 286,975,206 1,502,203,380 A1,215,228,174
1128t He &4 50,726,666 101,922,390 A51,195,724
12. 2 RHAHA 2| 1,068,816,199 1,098,184,655 A29,368,456
13.Rf A2t | Hi 135,980,466 130,405,319 5,575,147
14.7|EfS| HH|E 25,040,707 9,936,202 15,104,505
m.gole 18,018,685,590 33,504,433,271 A41,523,118,861
TR s IR 392,466,101 537,346,691 A 144,880,590
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3.0EE 3 MtEi= 0 0 0
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